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Straight lines Ex 23.13 Q1(i)

Writing the equation in the form
y=mx+c
Ix+y+12=0
y=-3x-12

= my =-3
Also
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Straight lines Ex 23.13 Q(ii)

Finding slopes of the lines by converting the equation in the form

y=mx+c
3x-y+5=0
= y=3x+5
= my=3
Also
X-3y+1=0
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Straight lines Ex 23.13 Q(iii)

To find angle between the lines, convert the equations in the form
y=mx+c
H+4y-7=0
= 4y =-3x +7
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Also, 4x -3y +5=0

= 3y=4x+5
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Straight lines Ex 23.13 Q(iv)

To find angle convert the equation in the form y = mx +c
X-4y =3
= 4y =x-3
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Also, 6x -y =11
y=6x-11
= my=6

Thus, angle between the lines is
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Straight lines Ex 2343 Q(v). = °

Converting the equation in the form &
Y =mx+c ,\Q,
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Straight lines Ex 23.13 Q2 B

Slope of line 2x -y +3=10
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Straight lines Ex 23.13 Q3
Let ABCD be a quadrilateral
Ag = Jf0-2)" + (2 +1)°
Using distance formula
\[(Xz'xt)2+(72’71)2
-2?:3%- 770- 13
BC = J2-0) +(3-2)° =a+1=6
0= Jf4-2)°+(0-3)° =fa+9 =13
DA = J(4-2f +(0+1)* = fA+1 =46

Since opposite sides (A8 and CD) and (8C and DA) are equal

~ The given quadrilateral is a parallelogram.

Straight lines Ex 23.13 Q4

The equation between the points \@‘%
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Straight lines Ex 23.13 Q5

Lat/,, be the line joining 4C and
Lat/, be the line joining 80
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Hence proved.



